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Substitution
Replace letters with the 
corresponding numbers.

Minimum wage (W) is £8 per hour and 
you work for 13 hours (H). 
How much do you get paid? 

Example

Pay = Minimum wage × Hours

𝑃 = 𝑊 × 𝐻

Pay = £8 × 13 = £104

Formulae

𝑆𝑝𝑒𝑒𝑑 =
𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒

𝑇𝑖𝑚𝑒

Percentage change = 
𝐷𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒

𝑂𝑟𝑖𝑔𝑖𝑛𝑎𝑙 𝑎𝑚𝑜𝑢𝑛𝑡
× 100

Population density = 
𝑇𝑜𝑡𝑎𝑙 𝑝𝑜𝑝𝑢𝑙𝑎𝑡𝑖𝑜𝑛

𝑇𝑜𝑡𝑎𝑙 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑙𝑎𝑛𝑑

Often measured as people per square mile. 

Spearman’s rank 
correlation coefficient 
(Determines the strength of 
the relationship between two 

sets of data.)

𝑟𝑠 = 1 −
6∑𝐷2

𝑛 𝑛2 − 1

∑ This symbol 
is called sigma 
and means the 
sum of. 




